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-- locopy()BR%Z, tabtext.col2fYEBiRtext
insert into tabclob select coll, locopy(col2) from tabtext;

-- texttoclob()ER#EN, tabtext.col2fYERiRtext
insert into tabclob select coll, texttoclob(col2) from tabtext;
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-- unload, clobHESHAMNA ({FHdbms_lob_substriift)

-- {FF5EEEAYdbms_1ob_substrif#g

unload to tabclob.unl

select coll, dbms_lob_substr(col2,dbms_lob_getlength(col2),1) from tabclob;
-- load

load from tabclob.unl insert into tabtext;
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-- dbms_lob_substr()ER%{, tabclob.col2fYEHIEclob
-- dbms_lobgetlength () REFTIRENFFRTEKE
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insert into tabvarchar
select coll, dbms_lob substr(col2,dbms_lob_getlength(col2),1) from tabclob;
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{EEFdbms_lob_new_clob()ER#], EREIES* : https://gbasedbt.com/index.php/archives/452/
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-- dbms_lob_new_clob()E&#], tabvarchar.col2f9zEEvarchar
insert into tabclob
select coll, dbms lob new clob(col2) from tabvarchar;
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-- Sttexttoclob, Edbms_lob substr
insert into tabvarchar

select
coll,dbms_lob_substr(texttoclob(col2),dbms_lob_getlength(texttoclob(col2)),1) from

tabtext;

LA AT LAEdbaccessfEAunload/loadRY A T THE

-- SHANAH

unload to tabtext.unl select * from tabtext;
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load from tabtext.unl insert into tabvarchar;
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unload to tabvarchar.unl select * from tabvarchar;
-- NXHHEN

load from tabvarchar.unl insert into tabtext;
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